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A= BT R e A B ERIERBAHRED
No. M4, e aer | B |xe e (e Sv/B%) (mSv/4E) R (0.870mSv/4F) EDE
No. I N=E4 5cm 50cm im 5cm 50cm im 5cm 50cm 1m
1 |EEHR 0.09 0.08 0.08 0.47 0.41 041 | FHLUT [FHLUT |FHLT
1| 2EREM BE—THI1E26S 11898 | 10:15 | B
2 |BAO 0.09 0.08 0.08 0.46 0.40 043 | EHLT |FHUT [FHUT
1 |EEHPR 0.08 0.06 0.07 0.44 0.31 037 | FHLUT [FHLT |FHLT
2| F{EREM F{EET5E31E 11888 | 945 | &
2 |BAO 0.08 0.07 0.07 0.41 0.35 0.35 | EHLTF |FHLUT [FHUT
1 |EEHPR 0.06 0.06 0.06 0.29 0.29 0.29 | FFHLUT [FHLT |FHLT
IEBRAREN |EBAFE4HE|40FH8 | 11H108 | 1050 | B
2 |BAO 0.09 0.07 0.08 0.46 0.38 041 | FFHLUT [FHLUT |FHLT
1 |BEDR 0.06 0.07 0.07 0.32 0.35 0.36 |TFHLUT |FHLUT |FEHLUT
A/MUEBRRER  [{MUBZTBIEE 11898 | 940 | B
2 |BAO 0.10 0.09 0.10 0.55 0.48 051 |FFHLUT [FHLUT |FHLT
_ 1 |EEHR 0.06 0.07 0.07 0.33 0.35 037 | FEHLUT [FHLUT [FHLUT
5|TEERR BT TEERFESHEN 165 Hh 11888 | 1445 | B
2 |BAO 0.07 0.07 0.06 0.36 0.37 0.32 | FHLUT [FHLUT |FHLT
1 |BEEPR 0.09 0.07 0.09 0.48 0.39 045 | LT |FHLUT |FEHLUT
6|ILOREFT WARTHEH2B15 118108 | 15:00 | B
2 |HAO 0.10 0.07 0.07 0.53 0.38 0.39 |FHUT [FHUT [FHUT
~ 1 |BREFR 0.08 0.07 0.08 0.41 0.37 043 | FHUT |FHLUT [FHAUT
11EREER ER-TH8&ESS 118108 | 1140 | B
2 |HAO 0.07 0.07 0.08 0.37 0.39 041 | FHUT [FHLUT |FEHLUT
~ _ 1 |EEFR 0.08 0.09 0.08 0.40 0.46 042 | FHLUT |FHLUT [FHUT
8| RERT IHZTH5ES 1188H | 16:30 | B
2 |HAO 0.09 0.10 0.09 0.46 0.51 049 | FHUT [FHLUT |FHLUT
_ 1 |EEFR 0.08 0.10 0.08 0.41 0.51 041 | EHLUT |FHUT [FHUT
9| ILERBEFT 3L S5 3Hh E 1 Fith2 118108 | 12:15 | B
2 |HAO 0.09 0.08 0.09 0.48 0.41 047 | FHUT [FHLUT |FEHLUT
1 |EESRR 0.10 0.08 0.09 0.54 0.44 045 | FHUT [FHLUT |FHUT
10|HEZHZREA HZ=F—TH1%6%5 |118108| 1335 | B
2 |HAO 0.11 0.09 0.09 0.56 0.46 045 | FHLUT [FHLUT |FHUT
_ 1 |EESRR 0.07 0.06 0.06 0.35 0.34 0.34 | FHUT [FHUT [FHUT
1| EREA T E2HE|1462 1 11888 | 1340 | B&
2 |HAO 0.08 0.08 0.06 0.41 0.41 0.32 | FHUT [FHLUT |FHUT
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EE T REREAIEAZR
A BEBITORE B EMEARIHRED
No. T AR EHh aea | B |xe e (u Sv/H%) (mSv/4E) tHHR 1 (0.870mSv/F) EDE
No. Al S 4 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm im
1 |EEHPR 0.09 0.09 0.06 0.48 0.45 033 | FHLUT [FHLT |FHLT
12(ERFREE [[REIF IS 11898 | 845 | &
2 |HAO 0.09 0.07 0.07 0.45 0.36 0.38 | FHLUT [FHLT |FHLT
1 |EEHPR 0.06 0.07 0.05 0.34 0.35 0.26 | FHLUT [FHLT |FHLT
13EHREER RARI1EE 11898 | 11:28 | B
2 |HADO 0.07 0.06 0.06 0.37 0.33 033 | FFHLUT [FHLT |FHLT
1 |EEHR 0.05 0.05 0.05 0.25 0.26 0.27 | FHLUT [FHLT |FHLT
14| FATREER FRBTEIMEN14F 11 | 11108 | 1005 | B
2 |HADO 0.09 0.09 0.09 0.47 0.46 045 | FHLUT [FHLT |FHLT
e e 1 |EEHPR 0.08 0.08 0.06 0.40 0.42 0.34 |FEHUT [FHUT [FHUT
15@!%’% EHE2%155 1MA108 | 1525 | B
b 7 2 |BAO 0.07 0.06 0.06 0.35 0.29 0.34 | FHLUT [FHLUT |FHLT
1 |BEEPR 0.08 0.08 0.06 0.42 0.40 0.34 | LT |FHLUT |FEHLUT
16[/NEESHE |[EE—TH2H145 11898 | 910 | B
2 |BAO 0.07 0.07 0.06 0.37 0.35 0.34 | FHLUT [FHLUT |FHLT
spen— s 1 |EREPR 0.08 0.08 0.07 0.40 0.44 037 | FHLUT [FHLUT |FHLT
17 ﬁ;aﬁf;} FET= T H3%E262 11888 | 16:00 | B
= 2 |BAO 0.10 0.09 0.09 0.53 0.47 048 | FHLUT [FHLUT |FHLT
1 |ERE 0.07 0.05 0.05 0.37 0.28 0.27 | L L L
18(Z TR [HEERH4FE205 11898 | 1058 | B BREeh & FRUT [FRUT [FHET
2 |HAO 0.07 0.06 0.06 0.36 0.31 0.34 | FHUT |FHUT |FHUT
1 |EESR 0.06 0.05 0.06 0.34 0.28 0.33 | FHUT |FHLUT [FHUT
19ELRS#E |[EE-TH6E6S 11888 | 1420 | B
RS T 2 [HADO 0.09 0.08 0.09 0.49 0.40 045 | FHUT |FHUT |FHUT
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EE T REREAIEAZR
A BEBITORE B EMEARIHRED
No.|  HE% FRTEH AEe | B | xE (4 Sv/B%) (mSv/ &) R F2 (0870mSv/F) EDE
No. Al S 4 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm im
~ 1 |EEHPR 0.07 0.05 0.07 0.36 0.28 037 | FHLUT [FHLT |FHLT
20|MEREM X 3t EI327F 20 11888 | 11:05 | B
2 |BAO 0.11 0.13 0.12 0.60 0.67 0.62 | EFHLTF |FHLUT [FHUT
~ 1 |EEHPR 0.07 0.07 0.07 0.35 0.39 0.36 | FHLUT [FHLT |FHLT
21/ NEREF INEIEE 201 B 325 13 11888 | 10:00 | BE
2 |BAO 0.13 0.13 0.11 0.66 0.67 0.60 | FHLLTF |FHLUT [FHUT
N N 1 |EEHR 0.10 0.08 0.09 0.54 0.41 047 | FHLUT [FHLT |FHLT
2|EERELE =/EMT B1H405 11888 | 1525 | B&
2 |BAO 0.07 0.08 0.06 0.38 0.42 0.29 | EHLTF |FHUT [FHUT
1 |EEHPR 0.12 0.07 0.07 0.61 0.39 0.39 | FFHLUT [FHLT |FHLT
B EXREELE EXEHE1 B 118108 | 920 | B
2 |BAO 0.10 0.10 0.10 0.55 0.52 0.52 | EHLT |FHUT [FHUT
24| HRRELE HtE16E|63FM2 | 115108 | 1420 | B 1 AR 0.11 0.09 0.09 0.58 0.45 047 | FHUT |FHUT |FHUT
1 |EREPR 0.07 0.07 0.08 0.38 0.35 041 | EHLT |FHUT [FHUT
25|)IINREEE JNRESHhEI4F 11888 | 1145 | B
2 |BAO 0.07 0.07 0.06 0.37 0.37 0.34 | EHLT |FHUT [FHUT
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